Regras de Inferencia

Deducao Natural
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Algebra Booleana

anNl=1 {A— null }
avT=T {V—null }

aNT =« {A— identidade }
aVli=a {V— identidade }
ahNa=a«w {A— idempotencia }
aVa=a«a {V— idempotencia }
aNB=FAa {A— comutativo }
aV=pVa {V— comutativo }
aAN(BAY)=(aAB) Ay {A— associativo }
aV(BVy)=(aVB)Vy {V— associativo }
aAN(BVy)=(aAp)V (a A7) {A— distribui —V}
aV(BAY)=(aVB)A(aVy) {Vv— distribui —A}
“(aNpf)=-aV-p { DeMorgan —A}
—(aVp)=—-aN-p { DeMorgan —V}
-T=1 { negacao — T}
-L=T { negacdo —1}
ahN-a=1 { complemento —A}
aV-oa=T { complemento —V}
—(-a) =« { dupla-negacao }
a— B=-aV { implicacao }

a == B8N0 —a) { bicondicional }
—Vz.P(x) = 3z.-P(x) {—~ -V}

—dz. P(.%‘) = V. —\P( ) {—\—3}

Va.P(z) A Q(x) =Vz.P(x) AVz.Q(z) {N-V}

Jz.P(z) V Q(x) = Jz.P(z) V Iz.Q(x) {Vv -3}




